E17E Da=FHI EVIAYTUI6EBRRELHREAR

H1R: 202149 H 23H Sh Rk EE
Be s mIE R0 A B AR RS FFREB—KR
HH R 147 201 3fi1 441 5{i1 641 141 8{s
, 1E8F wil EAM 12722| B35 #EAEx) 12739| B R42(1) 12763|#aRE HF() 12765| BB &EQ) 12”80|F74  E(1) 12797|#&M@ #EARQ) 13"04| B4 =EH() 13707
9/23 100m
-1.5 friclan LS i=1an =k E FAE & ESH Es EHES FEH
, 25EBF C- A ) 11793|=+ E#H(2) 11797|h 4T EHI(2) 12702| KRR KE(2) 12712\ K Eh(2) 12713[#231L BETEQ) 12721\ & &2 127238 EiQ) 12735
9/23 100m
-0.8 Ed A4 mES HIGE—d __1BH FEH 1 | EEES |
IERF B Z£Q) 117477 EBE®R) 11760| 1% HizH(3) 11796 2@ 1&A(3) 12"09|2%k E®Q) 12715(08 FIE®Q) 12715|8m XK&Q®) 12724| Tk KH®Q) 12757
9/23 100m
-0.7 g P AR =R Kigd __ B AP LS i=1an fEEd B
) HBEHF BHE&EIAQ) 16”58|#AHE EH®Q) 16"95( 2K ZEAR) 17716\ AR+ EF0(3) 17770[/NE 1&EE(2) 17780|#% % FHE(2) 18”12/ EFQ) 18”21l EF[E AR AR(2) 18722
9/23 150m
+0.5 ikl FoEhE INFR R INFRER Kigd ¥ sk e Tt
HF BIEEO) 237777 =% F:%03) 2'38”59[/NehEF FH(3) 2'39734|EK FRE(®) 241778|BE TRQ) 2'49”18[JIIF REA(2) 2’51700 EHZE ;RK(3) 2'51757| /K& 1§X(2) 2'54786
9/23 1000m
Kigd B R A S £l ERG ErEd txa=Et =it
#E &) 15"59|HF FEKR®Q) 15"70[&t KEQ) 15"73|&F1T =H®) 16716[IRE Hr=(3) 17779\ Bk K#(3) 18"71[#hE —#(2) 20769t E REL(2) 24782
9/23 110mH
-04| _  Higsh AiFEg INFR R ke _ RES INFRER FEH Ea=1
BE &3+0) 1m83|FH BB A AR(3) 1m80[ILE ZE#E(3) 1m71[1&5E HH2) 1m68|E[H HiA(3) 1m65|fmRE EB&HEQ) 1m60 R MA&EE 2 M (3) 6fi|8kE E3(2) 1m55
9/23 ESBk REH - R 1m60
____ EAEM ____SfE$ AT ErEH INERER ErEH Kied ksl
IEZS 3 PNE) 3m20| FimENEAR) 2m80(IUTF (1) 2m30
9/23 Bk
INER R INFRER INFR R
XH £EQ) 6m08|Ex S XF5(3) 5m87|F £ K@) 5mb52|;EE K TR(3) 5m50[;a[ % —75(3) 5m35[J111& EH2) 5m35[48%8 #(2) 5m29[FRix  #R(3) 4m86
9/23 ENE Bk +1.7 +0.5 +1.7 +1.0 +1.2 +1.3 +0.2 -0.3
FJ1| #rh Kigd 4 eh [ilan EEFEG gah _KiEdh
=FHFRKEAR) 13m73|F R EARER3) 13m01 |7l B E(3) 12m70|EE  #(3) 12m11|8EE HIFHO) 11m88|iE2  A(3) 11m88[3RT Z*(3) 11m60[fnafE E(3) 11m48
9/23 =Bk +0.4 +0.7 +1.4 +2.0 +0.4 +1.0 +1.9 +0.7
B R 37| b N Ef ¥l HES =Bgh Fa/NFA e R
, - BS #HhEQ2) 10m14|=7k FOAE(3) IMI3|AKR FEL(@) Im09|Z5:th BEKR(2) 8m87|E HEFE(2) 8m87|TH EE(2) 8m38[EFE EA() 8m35| 1L TTEMAR) 7m88
9/23 3
- = m #)1|p +rSH P /b o Feh HETRY-
o 250 28mO3[{IZK ZEHF(2) 24m48|RLB B3N (2) 16m72
9/23 (o) 254
MESP EXAE AIE
) = B3) 49m56| B R FHH(2) 44m05| R &Il 1EQ) 43m31|f&=K &iK(2) 41m36|5EH FE(2) 35m74[E &3F(2) 34m14[HZE EEN) 33mi18[EL] KF(2) 32m14
9/23 Y eA" )y An—
AR A RAED mEd Egd =Rg Fasicth tiaEg

1/2




170 Ca=FAIoEYIHYTUI16TIFRELEFHKE
#AR: 202149823H

PR RIS E IR IR
HH BE

EEB) N FERE L RIS

TFREBE—E

(B H | 16L 20 3L 41 5% 61 273 8l
, 1EL&F FE KREN1) 12799|f A AR H(1) 13"83| &Y ETEQ) 14716|#H FE&1) 14753|J11#% ZEH£Q) 14753|5EK MEZRA) 14771 R Q) 1473|558 #301) 14783
9/23 100m
-0.6 Eh FthAC Xigd AREFeh EXAE FES =@ R4 eh
, 2FRF INEL IDEE(2) 13”398 T D EHM(2) 13748[F )1 #4£(2) 13797 |87k FBHK(2) 13"99|#IL  E(2) 14709 Bk XE(2) 14723| R+ BE(Q2) 14”32\ F0(2) 14”38
9/23 100m
-09| _  EpgmEER 3 FES Al ch EIFE G __ FES E&H
) SELF BEBERRQ) 12774\ 4 #EiE3) 13701|#PEA #AR) 13728/ ik B () 13750[[EO0 E =) 13767|=% H®A) 13784[7G)I EERR(3) 14730[% FETEQ) 14757
9/23 100m
-0.8 FathAC ke [ilen =R% L r=1aa tirEH b =
, HBLZF PNEVEXER) 19”15iEE U &Y(2) 19”38|NLLE ¥(3) 19”79 &Il FiF(2) 19”86 & ZFF(3) 20"50tHE HE(2) 20779|BABF PAZHE(3) 21715|h@ (1) 21758
9/23 150m
+0.9 FES _HEd FJ11 5 Al BGF HIGZEH KR AiEd
AE BCHI(3) 305742 EHI E®) 305765|AH #7112 3'16765|BER #HIE(3) 317783[fIFE  E(2) 3'18728[@F 1ER(1) 319766|H3L FTE®M) 321701{E R RIEZ() 325715
9/23 1000m
FE b/ 2 Kigdh txaEG KiEd __ {FEw® EBd Ay Sz
, AH HF@Q) 15740| A% B #(3) 15742(HME ZFEFI(2) 16”38|RTHE Fa3(2) 17754[F 1L &FZE(2) 18"00|AE 7TE(2) 187238 =52 20726
9/23 100mH
-1.8 = XMES FEES ke A= FonEL das AfEg Ee
, . EH FH2) = R6) 1m40|BEIR E3E(1) 1m35|KIEVHY(2) Im30BERZEZ() Tm25
9/23 =
- 0% Aspich Kigrh e A
& BB 2m10
9/23 ek
Afes .
EX FRO 4m83[AE EfE®3) 4m83[HAE EE(2) 4m73[E 2 NEFT(2) 4m61|Kk F=EQ2) 4m26 |7 I L EE KR F(2) 4m24[RIE H17E(3) am23|EEw b LVE() 4m13
9/23 ENE Bk -1.2 +2.1 +0.8 -0.2 +1.0 +2.1 +0.3 +1.1
= iche FEthAC R friz)az R XiEd E#ERS XiEd
TE IKHEQ) 10m4[ERE (1) 10m41 |54 E 1D FI2) 10m10|*F[E $FHa(3) 9m32
9/23 =238 +2.3 . -03 +0.4 -0.2
SR EER ___ K __ HMET
, - 2 #Mm02) 8m98| LR iK(2) 8m59|SMRRFAEQ) 8mb54| =18 HE(2) 8m31|ILTF F&H) 8m30|&itL ME(2) 8mi5|EH F=(2) Tm36[IL T EYE(Q2) 7m32
9/23 3
- @Fn At shokeh tHeh = EHES Kigh ke
=8 FEQ) 23m66|fafE FEK(3) 20m12(4h il ;EZ(3) 16m89| Bt #EZ(2) 14m73
9/23 (o) 254
EXAEF = TALFv) B RAE
, A% M) 33m35| KL 3E:E@3) 30m28| R & 11#D#E(1) 27m65|2K XA®Q) 27mO3| LI E < (1) 26m66|=H ZH(1) 26mi4[=F%F =) 25m62[REF EZE(3) 18m34
9/23 Y eA" )y An—
EEES E#ER G Xied MR AXEd E@T EE F9J11 5

2/2




